Math 151 - Test 3

Mar 10 2016

Question 1:  Solve the following inequalities. State your answers using interval notation.

(a) x> —x—6>0

(A-=3)( x+2) >0

X=3=p s x+d=o

X =3

XK=-1

[5]

[5]
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Question 2:
(a) Find the distance between the points P(—4,3) and Q(—2,5) .
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(b) Find the midpoint of the line segment joining the points P(—4, 3) and Q(—2,5)
X+
M = ( _‘_._XZ \3\ *V"‘z_ >

Z =z
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(c) Suppose Q(—2,5) is the midpoint of the line segment joining P(—4, 3) and some other point R(a, b). Find
the coordinates a, b of R.
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Question 3:

(a) Find the equation of the circle with center (2, —3) and radius 3/4 .

ﬁ%»?)z + (‘;)*J)Z -?-;J

[2]
(b) Determine (i) the center and (ii) the radius of the circle having equation
X2+ y?+8x—6y+16=0.
e -(—gx +‘3 6"3 +(6 =0
@m) -1 + (‘3'3) 9 +16 =0

(X+q ) (9-3)"= 9

@) Cete s ('L(,Z)
() Raolims  *5 V=3

[4]
(c) Find all points of intersection of the line y = 1 with the circle of radius 2 and center (3,0) .
X (Q | ) e a Iom'wﬂ"ﬁ  wiese g
Civelo ms e@wﬂ‘wn

(4-0) "+ (x-1)*=

! 1

S (1-0) +(q-‘3> =2

|+ (a-3) =Y

(a-2)"= 3
a-3 = T U2

i — oL = 3% )3

t& PO\"J(_S’ o (‘3"".]_3—')\) ( 3__‘)?)()) [4]
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Question 4:

Ix +1

(a) Determine the domain of f(x) = . State your anwer using interval notation.

eecmdl)\]\"? K+l =0
> =
*E Y

becaia b Hovonanitor i x #o.

B Stoman s[4, 0)y (o0, 0) j

B,

3]
(b) Let g(x) = x? — 3x + 2. Find and simplify g(2a+1) .

g{laﬂ) = (elo\-ﬁ—()l—- 3(3_@-@() s
= datYot )~ 3+ L

< ¢ G\L—-Za

= ) Q\a(laﬂﬂ

[3]
(c) Determine the value of a if the point (3, 2) is on the graph of f(x) = 2x%— S
!ll( 3) - aL So ‘(——-— = 2
203)-a
L = -OC
L G
_
o= 6 5y
T
[a=4)
[4]
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Question 5:

(a) Find the slope and y-intercept of the line 5x — 2y = 10 .

-—z? s =5 x-+(0

= x-S
9 =
o - :
o0 \M l’
) —{itercept i (o75)
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(b) State an equation of the vertical line through the point (—7,3) .
1%
<—7~‘3)
S
é—\X; “'1 :
2]

(c) Determine an equation of the line through the points (-1, 3) and (3,4) .

T g g ww ()
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53 * s <——3 3
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$oY Y Eguation s gf—é:—s:(xa!ﬁ

W‘r’—S‘Xﬁ- /3] "
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